
Scientific Notation (J)Convert between scientific notation and ordinary numbers.
0.00000248 = 0.005793 =
2.9 × 10⁻⁴ = 0.00046 =

2.16 × 10⁻⁶ = 0.00000329 =
0.000505 = 4.39 × 10⁻⁴ =

0.00000058 = 0.001503 =
5.497 × 10⁻⁴ = 6.7 × 10⁻⁵ =
1.35 × 10⁻⁵ = 0.00698 =

0.0037 = 0.000004066 =
8.856 × 10⁻⁴ = 0.000078 =

0.0085 = 0.000000042 =
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Scientific Notation (J) AnswersConvert between scientific notation and ordinary numbers.
0.00000248 = 2.48 × 10⁻⁶ 0.005793 = 5.793 × 10⁻³
2.9 × 10⁻⁴ = 0.00029 0.00046 = 4.6 × 10⁻⁴

2.16 × 10⁻⁶ = 0.00000216 0.00000329 = 3.29 × 10⁻⁶
0.000505 = 5.05 × 10⁻⁴ 4.39 × 10⁻⁴ = 0.000439

0.00000058 = 5.8 × 10⁻⁷ 0.001503 = 1.503 × 10⁻³
5.497 × 10⁻⁴ = 0.0005497 6.7 × 10⁻⁵ = 0.000067
1.35 × 10⁻⁵ = 0.0000135 0.00698 = 6.98 × 10⁻³

0.0037 = 3.7 × 10⁻³ 0.000004066 = 4.066 × 10⁻⁶
8.856 × 10⁻⁴ = 0.0008856 0.000078 = 7.8 × 10⁻⁵

0.0085 = 8.5 × 10⁻³ 0.000000042 = 4.2 × 10⁻⁸
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